
672:$5=<6=(1,(�*(2'(7Ï:�32/6.,&+
2''=,$à��:���/(*1,&<

.21.856��)272*5$),&=1<��Ä*(2B)272B����´

6WRZDU]\V]HQLH�*HRGHWyZ�3ROVNLFK�=DU]ąG�2GG]LDáX�Z�/HJQLF\�RJáDV]D�NROHMQą�HG\FMĊ�

NRQNXUVX�IRWRJUDILF]QHJR�GOD�JHRGHWyZ��GR�NWyUHJR�]DSUDV]DP\��NROHĪDQNL�L�NROHJyZ�]�FDáHJR�

.UDMX��

�� &(/��L��7(0$7��.21.8568

3RND]DQLH�SUDF\�JHRGHW\�Z�UyĪQ\FK�ZDUXQNDFK��Z�WHUHQLH��Z�ELXU]H��QD�SODFX�EXGRZ\��

Z VWRF]QL��SU]\�SRPLDUDFK�RGNV]WDáFHĔ��EXGRZLH�PHWUD��EXGRZLH�WXQHOL���V]\EyZ�JyUQLF]\FK�

L W�S��: RGQLHVLHQLX�GR�XF]QLyZ�L�VWXGHQWyZ�SUDFĊ�JHRGHW\�QDOHĪ\�UR]XPLHü�MDNR�SUDNW\NĊ�

]DZRGRZą��

3RND]DQLH�FLHNDZ\FK�V\WXDFML�]ZLą]DQ\FK�]�QDV]\P�]DZRGHP��QLHNRQLHF]QLH�]ZLą]DQ\FK�

EH]SRĞUHGQLR�]�SUDFą�SRG�ZDUXQNLHP��ĪH�]�WUHĞFL�]GMĊFLD�Z\QLNDü�EĊG]LH�WHPDW\ND�

JHRGH]\MQD�

�� ,/2ĝû�35$&

x� =GMĊFLD�SRMHG\QF]H�±��QLH�ZLĊFHM�QLĪ�F]WHU\�]GMĊFLD��F]WHU\�SUDFH��

�� )250$7�35$&

3RZLĊNV]HQLD�NRORURZH�OXE�F]DUQR�ELDáH�QD�SDSLHU]H�IRWRJUDILF]Q\P�R�IRUPDFLH����[����FP��

.DĪGH�]GMĊFLH�SRZLQQR�]DZLHUDü�QD�RGZURFLH�JRGáR��SVHXGRQLP�DXWRUD��L�W\WXá�]GMĊFLD��3URVLP\�

QLH�]DPLHV]F]Dü�QD�]GMĊFLDFK�VZRLFK�GDQ\FK�SHUVRQDOQ\FK��.RPLVMD�NRQNXUVRZD�SU]HG�

UR]VWU]\JQLĊFLHP�NRQNXUVX�QLH�FKFH�]QDü�GDQ\FK�RVRELVW\FK�DXWRUD�

'R�NRSHUW\�]H�]GMĊFLDPL�QDOHĪ\�GRáąF]\ü�GRGDWNRZą�]DPNQLĊWą�NRSHUWĊ��QD�NWyUHM�QDOHĪ\�SRGDü��

JRGáR�DXWRUD��SVHXGRQLP���

:�]DPNQLĊWHM�NRSHUFLH�QDOHĪ\�XPLHĞFLü�QDVWĊSXMąFH�GDQH��

x� JRGáR�DXWRUD��SVHXGRQLP��

x� LPLĊ�L�QD]ZLVNR��DGUHV��WHOHIRQ��H�PDLO�

x� LQIRUPDFMĊ�±�XF]HĔ��VWXGHQW��QDXF]\FLHO��Z\NRQDZFD��XU]ĊGQLN��HPHU\W��UHQFLVWD�

x� LQQH�GDQH��ZHGOH�ZáDVQHJR�X]QDQLD�

�� 7(50,1�1$'6<à$1,$�35$&

'R�GQLD����SDĨG]LHUQLND������URNX��'HF\GXMH�GDWD�VWHPSOD�SRF]WRZHJR�

3UDFH�QDOHĪ\�SU]HV\áDü�Z�SáDVNLFK�V]W\ZQ\FK�NRSHUWDFK��DE\�XQLNQąü�HZHQWXDOQ\FK�

XV]NRG]HĔ��]D�NWyUH�RUJDQL]DWRU]\�QLH�ELRUą�QD�VLHELH�RGSRZLHG]LDOQRĞFL�



�� 52=675=<*1,ĉ&,(�.21.8568�

:HUG\NW�NRPLVML��MXU\��SRZRáDQHM�SU]H]�RUJDQL]DWRUyZ�QDVWąSL�Z�WHUPLQLH���JR�PLHVLąFD�

�� 1$*52'<�

'OD�]Z\FLĊ]FyZ�NRQNXUVX�SU]HZLGXMH�VLĊ�QDJURG\�U]HF]RZH��1DJURG\�L�G\SORP\�Z\VáDQH�EĊGą�

QD�DGUHV�SRGDQ\�SU]H]�XF]HVWQLND�NRQNXUVX�

�� :<67$:$�32.21.8562:$�

3U]HZLGXMH�VLĊ�SUH]HQWDFMĊ�Z\UyĪQLRQ\FK�SUDF�QD�áDPDFK�3U]HJOąGX�*HRGH]\MQHJR��QD�VWURQLH�

LQWHUQHWRZHM�6*3��D�WDNĪH�Z IRUPLH�Z\VWDZ�Z�WUDNFLH�]HEUDĔ�L�NRQIHUHQFML�JHRGHWyZ�

�� :$581.,�8'=,$à8�:�.21.856,(�

x� 3U]\VáDQLH��GRVWDUF]HQLH��QD�DGUHV�RUJDQL]DWRUyZ�Z�SRGDQ\P�WHUPLQLH�FRQDMPQLHM�

MHGQHM�SUDF\�IRWRJUDILF]QHM���MHGQHJR�]GMĊFLD��

x� 'RVWRVRZDQLH�VLĊ�GR�Z\PRJyZ�RNUHĞODMąF\FK�LORĞü�L�IRUPDW�]GMĊü�

x� =JáRV]HQLH�VLĊ�GR�NRQNXUVX�R]QDF]D�DNFHSWDFMĊ�MHJR�ZDUXQNyZ��D�WDNĪH�]JRGĊ�QD�

SXEOLNDFMĊ�Z�SUDVLH�OXE�LQQą�SUH]HQWDFMĊ�]GMĊü�]�SRGDQLHP�LPLHQLD�L�QD]ZLVND�DXWRUD�

RUD]�PLHMVFRZRĞFL�MHJR�]DPLHV]NDQLD�

x� 3UDFH�QLH�PRJą�E\ü�ZF]HĞQLHM�SXEOLNRZDQH�OXE�QDJUDG]DQH�Z�LQQ\FK�NRQNXUVDFK�

x� 1DGHVáDQH�SUDFH�QLH�EĊGą�]ZUDFDQH�XF]HVWQLNRP�NRQNXUVX�

�� $'5(6�25$*$1,=$725Ï:�

6WRZDU]\V]HQLH�*HRGHWyZ�3ROVNLFK�=DU]ąG�2GG]LDáX�Z�/HJQLF\

XO��=áRWRU\MVND�������������/HJQLFD

H�PDLO��OHJQLFD#VJS�JHRGH]MD�RUJ�SO

/HJQLFD�����F]HUZFD������U�

-HU]\�6]\V]NR
3UH]HV�2GG]LDáX�6*3�Z�/HJQLF\


